

لا انا، بل مع نفسي

رہ ۱۹ ام ← افری = ۹۲، افری رتہ قبلہ (۹۲) ۱۲

$$\frac{11 + 95}{2} = 73 \quad \Rightarrow \quad 95 = \text{سید اویس کا امت}$$

$d_1, r, \mu^2, f_{K,u}, \dots, \mu^2, f_{1r}, \dots, \mu^2, f_{K_0}, \dots, \mu^2$

$$, f(12), \dots, 10912 \Rightarrow \frac{10912 + 121}{2} = 5512$$

$$a_1 \rightarrow \mathbb{R}_{k+1} \rightarrow k=0 \rightarrow \mathbb{Z} \quad a_\omega \rightarrow \mathbb{R}_{k+1} \rightarrow k=1 \rightarrow 1+a$$

$$a_r \rightarrow r_n + r \rightarrow n=0 \Rightarrow 1+a \quad a_q \rightarrow r_n \rightarrow n=r \Rightarrow \Sigma$$

$$a_k \rightarrow r_k \rightarrow k=1 \rightarrow r \quad a_v \rightarrow r_{n+1} \rightarrow k=r \Rightarrow 9$$

$$a_k \rightarrow k+1 \rightarrow k=1 \rightarrow 2 \quad a_1 \rightarrow k+1 \rightarrow k=2 \rightarrow 2+a$$

$$a_9 \rightarrow {}^{\mu}\kappa \rightarrow \kappa = {}^{\mu} \rightarrow \Lambda$$

$$(\bar{C} \text{ } \mu \text{ } \bar{C}) \text{ } a \bullet \rightarrow \mu \text{ } \rightarrow \text{ } \rightarrow + r^0 = 1$$

$$E + I + A + r + r + I + A + E + o + r + A + I + r = 19 \rightarrow r_A + r_a = 19$$

$$\rightarrow a \boxed{-r} \xrightarrow{\text{cancel}} a_1, a_2, \dots, a_q \rightarrow r_{k+1} \rightarrow \boxed{1+0+0+0+0+0} \Rightarrow \boxed{r} \quad \checkmark$$

$$t_n = an^r + bn + c \xrightarrow[\substack{a = \frac{1}{v_0}(-a_2) \\ a_2 = 1\text{g}}]{a = -\frac{1}{a}} t_n = -\frac{1}{a}n^r + bn + c \quad (8)$$

$$t_0 = 12 \Rightarrow \frac{1}{a}(a^2) + b(a) + c = 12 \rightarrow ab + c = 19 \quad \textcircled{1} \quad b = 2$$

$$t_v = 1v/r \Rightarrow -\frac{1}{5}(v') + b(v) + C = 1v/r \rightarrow vb + C = rv$$

$$t_n = -\frac{1}{\omega} n^r + \varepsilon n - 1 \Rightarrow t_{10} \div t_1 = 12 \div \frac{12}{\omega} = \omega$$

$$\begin{cases} a_\xi = b_r \\ a_1 + r d = b_1 + d' \\ a_n = b_v \\ a_1 + v d = b_1 + \omega d' \end{cases}$$

$$b_0 = 0 \quad \frac{b_1 a}{d} = \frac{b_1 + 1 \xi d'}{d} \Rightarrow \frac{b_1 + \omega d'}{d} = \frac{\omega d'}{d} = ?$$

$$a_n - a_\xi = b_v - b_r$$

$$r d = \omega d' \Rightarrow \frac{d'}{d} = \frac{\xi}{\omega}$$

$$\omega \times \frac{\xi}{\omega} = \xi$$

$$a_r = a_1 \rightarrow a_1 r' = \underbrace{\omega(n+d)(n-d)}_{n r' - d r'} + \underbrace{r n(n-d)}_{r n r' - r d n}$$

(4)

$$\Rightarrow r n r' - r d n - \omega d r' = 0 \rightarrow n = \frac{r d + \sqrt{9 d r' + \xi \omega d r'}}{\xi} = \xi d' - \frac{1}{\xi} d$$

$$a_\xi = a_r + r d \begin{cases} \frac{1}{\xi} d + r d = r d \rightarrow \frac{r d}{d} = r \\ -d + r d = d \rightarrow \frac{d}{d} = 1 \end{cases}$$

$$\begin{aligned} &C, b, \omega a \\ &\downarrow \\ &b = c + d \\ &a = c + r d \end{aligned}$$

$$\text{series} \rightarrow \frac{c}{\xi}, \frac{a}{r}, b \xrightarrow{\text{series}} -\frac{1}{r} d, \frac{1}{\xi} d, -\frac{1}{\xi} d$$

(5)

$$\frac{c}{\xi}, \frac{c+r d}{r}, c+d \xrightarrow{\text{series}} (c+d) \left(\frac{c}{\xi} \right) = \left(\frac{c+r d}{r} \right)^r$$

$$\frac{c^r}{\xi} + \frac{d^r}{\xi} = \frac{c^r + r d r' + \xi c d}{r}$$

$$c^r + d^r = c^r + \xi d r' + \xi d c \rightarrow r d r' = + r c d \rightarrow c = \frac{\xi}{r d}$$

$$|9 - 15 - 2| \text{ --- be}$$

$$\text{series } a, b, c \rightarrow \frac{b}{q}, b, b q$$

$$\frac{a}{q} = q^r - \xi \quad \frac{a}{q} = \frac{1}{q} \left(\frac{a}{q} \right)^r = \frac{a}{q} \left(q^r - \xi \right)^r$$

$$\text{series } \rightarrow c, r a, r b$$

(6)

$$\frac{b}{q}, r b q, r b \rightarrow r b q - \frac{b}{q} = r b - r b q$$

$$\xi b q - \frac{b}{q} = r b$$

$$\frac{r b q r - b}{q} = r b$$

$$q = \frac{+ r b \pm \sqrt{9 b^2 + 4 b^2}}{r b} = \frac{r b \pm 2 b}{r b}$$

$$r b q r - b = r b q$$

Sub

$$r b q r - r b q - b = 0$$

$$\frac{a_1 q^d}{(a_1 q)^r} + \frac{a_1 q}{(a_1)^r} = r \rightarrow \frac{q^r}{a_1^r} + \frac{a_1 q}{a_1^r} = r \quad (A)$$

$$a_1 q + q^r = r a_1^r \quad a_1 q + q^r - r a_1^r = 0 \quad \leftarrow$$

$$q = \frac{-a_1 \pm \sqrt{a_1^2 + 4a_1^r}}{r} \quad \begin{cases} a_1 \rightarrow a_r = a_1^r \\ -r a_1 \rightarrow a_r = -r a_1^r \end{cases}$$

$$\left\{ \begin{array}{l} \frac{a_1^r}{a_1^r} = 1 \\ \frac{a_1^r}{-r a_1^r} = -\frac{1}{r} \end{array} \right\}$$

$$L_d = rV \rightarrow a q^d = rV \quad (1.2)$$

$$L_r = \sqrt{L_d} \rightarrow a q^r = \sqrt{a q^d} \xrightarrow{r a_1^r} a^r q^r = a q^r \rightarrow a q = 1 \Rightarrow a = \frac{1}{q}$$

$$q^d \times \frac{1}{q} = rV$$

$$q^r = rV \rightarrow q = rV \rightarrow a = \frac{1}{q} = \frac{1}{rV}$$

$$\frac{1}{r} - \frac{1}{r} = \frac{1}{q}$$

